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1.There are many different opinions among people as a ...,some
people suggest that...
KT MNMIEAFRRM R —2AAA......
2.Today... which have brought a lot of harms in our daily
life.First,...Second,...what makes things worse is that...
BAE, . ENSEAINARW R T IF2EE. Be. LR &
FERAZ...
3.As far as ... is concerned #f...1M 5
4.1t can be said with certainty that... 7] LA 5 & Hi ...
5.1t has to be noticed that....AZiF = 31...
6.1t" s generally recognized that... &I\ A...
7.Nothing is more important than the fact that...7%% G {14 th... 55 &
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8There’ s nodenying the fact that... N F] f5A...

9.As the proverb says 1F U1VEiE BT

10.What’ s far more important is that... 58 5 ZL 1] /&...

11.Some people support it while others do not. & A\ 2 #r, SR
AN AT

12.My favorite proverb is ... (IZ1E ), which means .35 = 1 1E



14.Different people hold different opinions. A~ [&] A REAS [A] B = . .
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1.Similarly, we should pay attention to...[d#f, FATEF=

2.In this respect, we may as well (say )MIX A E_ERATAT DL

3.As has been mentioned above-«-- 1F 1 | TH] T4 21 /) - -

4.1n view of the present station X£T H pi iz

5.However,the difficulty lies in*=*2X 1M, K MELE T+

6.Further,we hold opinion that:--lk#h, FATEEA,

7.But it's a pity that« - {H G I [1] f& -+

8.As case in pointis... — LI FIH] T4 ...

9.But the problem is not so simple.Therefore... R0 o] /& 343 fn 1
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10.For all that... fJTiX—1]...

11.It shows a common phenomenon nowadays that... & &7~ 1 24
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1.Therefore, we have the reason to believe that...[X ., A/ 1H F
HHE...
2 Therefore, in my opinion,it” s more advisable...[X[1th, 7EFHE K,
HAHCH A
3.All things considered &L I = 2
4.1 will conclude by saying... /)5 FZ ...
5.From what had been discussed above, we may safely draw the
conclusion that... #id PL_E 4518, IRATATLAAS H BL R 45
6.The data/statistics/figures lead us to the conclusion that... i it
I RATEF R R A...
7.1t can be concluded from the discussion that... A EATT AT PAAS HY
XA ..
8.From my point of view, it would be better if... fE F & ... W1 58K 1
PREE AT



